Wisconsin State Regional Championship

Hosted By: Ozaukee Aquatics Swim Team
A-B-BB-C
Sanction # 2010-149Wl
February 19 - 21, 2010

Location: Homestead High School

5000 W. Mequon Rd Mequon, WI 53092

Meet Rick Richter Entries: Ozaukee Aquatics Swim Team

Director: 100 N. Sheridan Drive P.O Box 662

Mequon, WI 53012 Mequon, WI 53092 262-241-7024 262-376-9586

<u>mrichter2@wi.rr.com</u> entries@ozaukeeaquatics.com

Facility: Eight lane, 25-yard indoor pool, backstroke flags, non-turbulent lane dividers and

seating area. Pool depth is 13 feet at the blocks and is 4' 8" at the turn end. The block height is 22 inches. All 25 yard events will start off the Bulkhead at 4'8" pool depth. The Competition Course has not been certified in accordance with USA Swimming's

Rule 104.2.2(c).

Timing: Timing will be done by a Daktronics electronic timing system with back-up timers for

each lane. ALL EVENTS WILL BE TIMED FINALS.

Meet Friday: General Warm-up 4:30 PM. Meet starts at 5:35 PM

Schedule: **Saturday & Sunday:** General warm-ups 7:30-8:30 AM. Failure to follow warm-up

guidelines may result in disqualification from next individual event.

Meet starts at 8:35 AM. The afternoon warm-ups will start at the conclusion of the AM session and will last one hour. The meet director will notify each club as to the

approximate time for all sessions once the meet entries have been received.

Warm-Ups: First 30 minutes - Circle swim all lanes.

Last 30 minutes Sprint Lanes 3,4,5,6

Warm-up pool will be open continuously throughout the meet.

Sit and Slide entries from the starting end of the pool during general warm-ups will be

enforced for all sanctioned/approved competition.

Rules: Official 2010 Short Course USA Rules and Wisconsin Swimming Rules shall govern

the conduct of the meet. Swimmers must be registered USA Swimming swimmers. **Age is as of February 19, 2010.** Coaches must display their Coaches Card while on

deck.

Entries: All entries will be taken when accompanied by full payment. Swimmers may compete

in a maximum of **SEVEN** (7) events for the entire meet plus relays. Swimmers may compete in **Five** (5) individual events per day plus relays. All 8& under swimmers are allowed to swim up to 4 events per day for a total of 7 for the entire meet. **Deck** entries for High School boys must be no later than 30 minutes before the start of

the session they wish to compete in. (Must prove registration at the meet.) All

swimmers who have achieved state cuts in their age group may only swim that event in a senior category. Any swimmer achieving a maximum time standard after the entry deadline may still swim that event. Any 8 & under can swim in any 8 & under event regardless of seed time, but may not swim 10 & under events in which they have achieved a state cut. **ENTRY DEADLINE IS FEBRUARY 08, 2009**.

SUBMIT CURRENT YARD TIMES. Clubs may use the enclosed entry forms. Scoring will be computerized. Meet entries may be submitted on 3.5 disc if using Hytek Team Manager. Include a hard copy of the entries. All disks must be labeled with the ID number Commlink II assigns, club name and entry contact. NO PHONE ENTRIES WILL BE ACCEPTED.

Seeding: The meet will be pre-seeded except for the positive check-in 400 IM, 500, 1000 and

1650 free events. These events will be deck seeded. Swimmers in the 500, 1000 &

1650 events must provide their own lap counters.

Entry Fees: \$ 4.00 per individual event, \$10.00 per relay event and a \$3.00 splash fee per

swimmer. Entry fees must accompany the official entry forms and are not refundable.

Final Results: One copy of the meet results will be sent to each team. Additional copies may be

requested at a cost of \$8.00 per copy.

Admissions: \$ 3.00 per spectator and \$ 3.00 per each session's heat sheet Saturday & Sunday.

\$3.00 per spectator (including heat sheet), Friday night.

Admission is free for children under 12.

Awards: Individual and relay events will receive Ribbons 1st through 16th place.

Individual High Point Awards:

1st-3rd High Point Awards for each Age Group will be awarded

Team High Point Awards:

1st-3rd Awards to the Top 3 teams

Scoring: Sixteen-place scoring will be used for individual events. Relay events scores will be

doubled.

Disabled Please indicate on the entries form any special needs for those athletes requiring

Swimmers: assistance. Also, please inform the head official of those needs prior to the start of the

meet.

Officials: Meet Referee – Don Steinberg

Concessions: There will be limited food items on Friday Night Feb 19th.

There will be full concessions on Saturday and Sunday

Meet Conduct:

Each team is responsible for the actions of their swimmers during the swim meet. Any meet attendees not complying with the pool and building rules may, at the discretion of the meet referee, be disqualified from further participation. In accordance with the Federal Video Voyeurism Prevention Act of 2004 – the use of camera phones or video recording devices in the locker rooms is prohibited.

2010 Wisconsin State LSC Regionals Hosted by Ozaukee Aquatics Swim Team WI Sanction # 2010-149WI Ozaukee Aquatics Swim Team Meet Waiver

In consideration of the acceptance of this entry, I/we hereby, for myself, ourselves, my/our heirs, administrators and assigns, waive and release any and all claims against USA Swimming, Wisconsin Swimming, Inc., the Mequon-Thiensville School District, the Ozaukee Aquatics Swim Team and their staff for injuries and/or expenses occurred by me/us at the meet, or while on the road to and from the meet. I/we are bona-fide amateur athletes and eligible to compete in all events I/we have entered. All swimmers are current members of WI/USA Swimming Inc.

Signature of Club Official, parent or guardian:	
Position	Phone #
Team Name & Abbreviation	
Team Coach	Phone #
Name & address for sending final results:	Email:
Name:	
Street:	
City:	StateZip ***************
	Y FEE RECAP
Total # of individual events:	X \$4.00 = \$
Total # of Relays:	X \$10.00 = \$
Total # of swimmers:	X \$3.00 = \$
Total Entry Fee Due:	\$

Make all checks payable to: Ozaukee Aquatics Email entries to entries@ozaukeeaquatics.com Send entries and payment to: Ozaukee Aquatics Swim Team P.O. Box 662 Mequon, WI 53092

2010 Wisconsin State LSC Regionals Hosted by Ozaukee Aquatics Swim Team WI Sanction # 2010-149WI

Schedule of Events

Cutoff

Girls

Friday Evening

Events

Boys

Cutoff

		<u>C</u>	utorr	Giris 1	Sr. 100 Fly	<u>Boys</u> 2	Cutoff		
		1.	07.49	3	13-14 100 Fly	4	1:05.09		
			35.59	5	11-12 200 IM	6	2:37.39		
			59.99	7	10&U 200 IM	8	2:58.29		
		۷.	33.33	9	Sr. 100 Breast	10	2.50.23		
		1.	17.69	11	13-14 100 Breast	12	1:13.49		
			22.49	13	10&U 100 Bleast	14	1:23.69		
		1.	22.49	13	*** BREAK ***	14	1.23.09		
		6:	53.49	15	12&U 500 Free	16	6:45.29		
			06.59	17	Sr. 1000 Free	18	6:04.29		
		0.	00.00	• •	3.1.10001.100	. •	0.00		
		Saturday a.m.					Sunday a.m.		
Cutoff	Girls	Events	Boys	Cutoff	Cutoff	<u>Girls</u>	Events	Boys	Cutoff
	19	10&U 200 FR	20		1:13.19	81	11-12 100 Back	82	1:14.39
		Relay							
	21	11-12 200 FR	22			83	10&U 200 Medley	84	
		Relay					Relay		
1:11.69	23	10&U 100 Free	24	1:12.49		85	11-12 200 Medley	86	
							Relay		
1:01.09	25	11-12 100 Free	26	1:03.29	1:23.09	87	10&U 100 IM	88	1:24.29
37.69	27	10&U 50 Fly	28	38.39	1:12.19	89	11-12 100 IM	90	1:14.99
31.09	29	11-12 50 Fly	30	33.29	32.39	91	10&U 50 Free	92	32.39
39.19	31	10&U 50 Back	32	39.19	2:17.39	93	11-12 200 Free	94	2:18.29
33.69	33	11-12 50 Back	34	34.29	43.69	95	10&U 50 Breast	96	45.29
1:34.59	35	10&U 100 Breast	36	1:35.59	37.29	97	11-12 50 Breast	98	39.79
1:21.49	37	11-12 100 Breast		1:24.79	1:26.79	99	10&U 100 Fly	100	1:33.79
2:38.49	39	10&U 200 Free	40	2:36.29	1:14.39	101	11-12 100 Fly	102	1:16.49
28.49	41	11-12 50 Free	42	29.09			•		
		Caturday n m					Sunday n m		
Cutoff	Ciala	Saturday p.m.	Dava	Cutoff	Cutoff	Cirlo	Sunday p.m.	Dava	Cutoff
<u>Cutoff</u>	<u>Girls</u>	Events	<u>Boys</u>	<u>Cutoff</u>	<u>Cutoff</u>	Girls	Events	Boys 104	<u>Cutoff</u>
	43	Events Sr. 400 IM	44		Cutoff	103	Events 8&U 25 Free	104	<u>Cutoff</u>
Cutoff 5:06.59	43 45	Events Sr. 400 IM 13-14 400 IM	44 46	Cutoff 5:04.69		103 105	Events 8&U 25 Free Sr. 200 Free	104 106	
	43	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR	44		<u>Cutoff</u> 2:06.69	103	Events 8&U 25 Free	104	Cutoff 2:04.39
	43 45 47	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay	44 46 48			103 105 107	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free	104 106 108	
	43 45	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR	44 46 48			103 105	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley	104 106	
	43 45 47 49	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay	44 46 48 50			103 105 107 109	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay	104 106 108 110	
	43 45 47	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR	44 46 48			103 105 107	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley	104 106 108	
	43 45 47 49 51	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay	44 46 48 50 52			103 105 107 109	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay	104 106 108 110 112	
	43 45 47 49	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR	44 46 48 50			103 105 107 109	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley	104 106 108 110	
	43 45 47 49 51 53	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free	44 46 48 50 52 54			103 105 107 109 111 113	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay	104 106 108 110 112 114	
5:06.59	43 45 47 49 51 53 55	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free	44 46 48 50 52 54 56	5:04.69		103 105 107 109 111 113	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back	104 106 108 110 112 114 116	
	43 45 47 49 51 53 55 57	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free	44 46 48 50 52 54 56 58		2:06.69	103 105 107 109 111 113 115 117	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back	104 106 108 110 112 114 116 118	2:04.39
5:06.59	43 45 47 49 51 53 55 57 59	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 8&U 25 Back	44 46 48 50 52 54 56 58 60	5:04.69		103 105 107 109 111 113 115 117 119	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back	104 106 108 110 112 114 116 118 120	
5:06.59 57.89	43 45 47 49 51 53 55 57 59 61	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back	44 46 48 50 52 54 56 58 60 62	5:04.69 56.19	2:06.69	103 105 107 109 111 113 115 117 119 121	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 8&U 50 Fly	104 106 108 110 112 114 116 118 120 122	2:04.39
5:06.59	43 45 47 49 51 53 55 57 59 61 63	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back 13-14. 200 Back	44 46 48 50 52 54 56 58 60 62 64	5:04.69	2:06.69 1:07.29	103 105 107 109 111 113 115 117 119 121 123	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 8&U 50 Fly Sr. 200 Fly	104 106 108 110 112 114 116 118 120 122 124	2:04.39
5:06.59 57.89	43 45 47 49 51 53 55 57 59 61 63 65	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back 13-14. 200 Back 8&U 50 Breast	44 46 48 50 52 54 56 58 60 62 64 66	5:04.69 56.19	2:06.69	103 105 107 109 111 113 115 117 119 121 123 125	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 8&U 50 Fly Sr. 200 Fly 13-14 200 Fly	104 106 108 110 112 114 116 118 120 122 124 126	2:04.39
57.89 2:26.29	43 45 47 49 51 53 55 57 59 61 63 65 67	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back 13-14. 200 Back 13-14. 200 Back 13-150 Free	44 46 48 50 52 54 56 58 60 62 64 66 68	5:04.69 56.19 2:21.29	2:06.69 1:07.29	103 105 107 109 111 113 115 117 119 121 123 125 127	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 13-14 100 Fly Sr. 200 Fly 13-14 200 Fly 8&U 25 Breast	104 106 108 110 112 114 116 118 120 122 124 126 128	2:04.39
5:06.59 57.89	43 45 47 49 51 53 55 57 59 61 63 65 67 69	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back 13-14. 200 Back 13-14. 50 Free 13-14 50 Free	44 46 48 50 52 54 56 58 60 62 64 66 68 70	5:04.69 56.19	2:06.69 1:07.29 2:32.79	103 105 107 109 111 113 115 117 119 121 123 125 127 129	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 13-14 100 Fly Sr. 200 Fly 13-14 200 Fly 8&U 25 Breast Sr. 200 Breast	104 106 108 110 112 114 116 118 120 122 124 126 128 130	2:04.39 1:05.39 2:25.49
57.89 2:26.29	43 45 47 49 51 53 55 57 59 61 63 65 67 69 71	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back 13-14. 200 Back 13-14. 200 Back 13-14. 50 Free 13-14 50 Free 8&U 25 Fly	44 46 48 50 52 54 56 58 60 62 64 66 68 70 72	5:04.69 56.19 2:21.29	2:06.69 1:07.29	103 105 107 109 111 113 115 117 119 121 123 125 127 129 131	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 13-14 100 Fly Sr. 200 Fly 13-14 200 Fly 8&U 25 Breast Sr. 200 Breast 13-14 200 Breast	104 106 108 110 112 114 116 118 120 122 124 126 128 130 132	2:04.39
57.89 2:26.29 26.59	43 45 47 49 51 53 55 57 59 61 63 65 67 69 71 73	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back 13-14. 200 Back 13-14. 200 Back 13-14. 50 Free 13-14 50 Free 8&U 25 Fly Sr. 200 IM	44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74	56.19 2:21.29 25.79	2:06.69 1:07.29 2:32.79	103 105 107 109 111 113 115 117 119 121 123 125 127 129	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 13-14 100 Fly Sr. 200 Fly 13-14 200 Fly 8&U 25 Breast Sr. 200 Breast	104 106 108 110 112 114 116 118 120 122 124 126 128 130	2:04.39 1:05.39 2:25.49
57.89 2:26.29	43 45 47 49 51 53 55 57 59 61 63 65 67 69 71	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back 13-14. 200 Back 13-14. 200 Back 13-14. 50 Free 13-14 50 Free 8&U 25 Fly	44 46 48 50 52 54 56 58 60 62 64 66 68 70 72	5:04.69 56.19 2:21.29	2:06.69 1:07.29 2:32.79	103 105 107 109 111 113 115 117 119 121 123 125 127 129 131	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 13-14 100 Fly Sr. 200 Fly 13-14 200 Fly 8&U 25 Breast Sr. 200 Breast 13-14 200 Breast 13-14 200 IM	104 106 108 110 112 114 116 118 120 122 124 126 128 130 132	2:04.39 1:05.39 2:25.49
57.89 2:26.29 26.59	43 45 47 49 51 53 55 57 59 61 63 65 67 69 71 73	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back 13-14. 200 Back 13-14. 200 Back 13-14. 50 Free 13-14 50 Free 8&U 25 Fly Sr. 200 IM 13-14 200 IM	44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74	56.19 2:21.29 25.79	2:06.69 1:07.29 2:32.79	103 105 107 109 111 113 115 117 119 121 123 125 127 129 131 133	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 13-14 100 Fly Sr. 200 Fly 13-14 200 Fly 8&U 25 Breast Sr. 200 Breast 13-14 200 Breast 13-14 200 IM	104 106 108 110 112 114 116 118 120 122 124 126 128 130 132 134	2:04.39 1:05.39 2:25.49
57.89 2:26.29 26.59	43 45 47 49 51 53 55 57 59 61 63 65 67 69 71 73 75	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back 13-14. 200 Back 13-14. 200 Back 13-14 50 Free 13-14 50 Free 8&U 25 Fly Sr. 200 IM 13-14 200 IM	44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74 76	56.19 2:21.29 25.79	2:06.69 1:07.29 2:32.79	103 105 107 109 111 113 115 117 119 121 123 125 127 129 131	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 13-14 100 Fly Sr. 200 Fly 13-14 200 Fly 8&U 25 Breast Sr. 200 Breast 13-14 200 Breast 13-14 200 IM	104 106 108 110 112 114 116 118 120 122 124 126 128 130 132	2:04.39 1:05.39 2:25.49
57.89 2:26.29 26.59	43 45 47 49 51 53 55 57 59 61 63 65 67 69 71 73 75	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back 13-14. 200 Back 13-14. 200 Back 13-14 50 Free 13-14 50 Free 13-14 50 Free 13-14 50 Free 13-14 200 IM 13-14 200 IM ***BREAK*** Sr. 500 Free	44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74 76	56.19 2:21.29 25.79	2:06.69 1:07.29 2:32.79	103 105 107 109 111 113 115 117 119 121 123 125 127 129 131 133	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 13-14 100 Fly Sr. 200 Fly 13-14 200 Fly 8&U 25 Breast Sr. 200 Breast 13-14 200 Breast 13-14 200 IM	104 106 108 110 112 114 116 118 120 122 124 126 128 130 132 134	2:04.39 1:05.39 2:25.49
57.89 2:26.29 26.59	43 45 47 49 51 53 55 57 59 61 63 65 67 69 71 73 75	Events Sr. 400 IM 13-14 400 IM 8&U 100 FR Relay Sr. 200 FR Relay 13-14 200 FR Relay 8&U 50 Free Sr. 100 Free 13-14 100 Free 8&U 25 Back Sr. 200 Back 13-14. 200 Back 13-14. 200 Back 13-14 50 Free 13-14 50 Free 8&U 25 Fly Sr. 200 IM 13-14 200 IM	44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74 76	56.19 2:21.29 25.79	2:06.69 1:07.29 2:32.79	103 105 107 109 111 113 115 117 119 121 123 125 127 129 131 133	Events 8&U 25 Free Sr. 200 Free 13-14 200 Free 8&U 100 Medley Relay Sr. 200 Medley Relay 13-14 200 Medley Relay 8&U 50 Back Sr. 100 Back 13-14 100 Back 13-14 100 Fly Sr. 200 Fly 13-14 200 Fly 8&U 25 Breast Sr. 200 Breast 13-14 200 Breast 13-14 200 IM	104 106 108 110 112 114 116 118 120 122 124 126 128 130 132 134	2:04.39 1:05.39 2:25.49

2010 Wisconsin State LSC Regionals Hosted by Ozaukee Aquatics Swim Team

WI Sanction # **2010-149WI**Individual Entry Form

Team Name:	Club Code:
Entry Contact:	Phone #:

Name	ID	Age	Event #/ Time						

2010 Wisconsin State LSC Regionals Hosted by Ozaukee Aquatics Swim Team WI Sanction # 2010-149WI Relay Entry Form

Team Name:	Club Code:
Entry Contact:	Phone #:

Event # &	A Relay Names &	B Relay Names & Time	C Relay Names & Time	D Relay Names & Time
Description	Time	& Time	& Time	& Time
	_			

2010 Wisconsin State LSC Regionals Hosted by Ozaukee Aquatics Swim Team

Time Trials Sunday, February 21, 2010 WI Sanction # 2010-135WI(TT)

When: At the conclusion of the Sunday afternoon session as time permits and at the

discretion of the meet directors. Pool will be open for a 20 minute warm-up

period following the conclusion of the Sunday afternoon session.

Events: See meet order of events listing. Events may be combined at the discretion

of the head official and the meet directors. The order of events will be as follows: Free, back, breast, fly, IM and starting at the shortest distance (50y) and progressing up to the longest (1650y). The 1000 and 1650 free

will be run last as a combined event.

Fee: \$5.00/individual event

Registration: Registrations will be accepted up until the completion of the Sunday

afternoon session.

Procedures: Swimmer(s) will sign up for an event at the pool office.

Swimmer(s) will fill out a seed card at the office—swimmer's name, age, team, event name and seed time. Seed card and event fee must be turned in

to the office before the deadline (above). A meeting for time trials

participants will be held prior to the start of time trials. Cards with heat and lane assignments will be handed out at this meeting. It is the swimmer's responsibility to be ready to swim when his/her event is called. The referee will not hold the start of the event to wait for a swimmer to show. An announcement will be made that time trials are beginning and swimmers

should report to the meeting immediately.

We Provide: Officials, Daktronic Timing, and Meet Management.

Swimmers Provide: Timers, stopwatches (some may be available).

Reminder: The maximum number of individual events in one day is five (5)...This

includes time trials! These may be only time trial events or a combination of

time trial and meet events.